LOosungen zu normale lineare Gleichungen:

Ubungen: a) 114+13y=66+7y
by 35-0,5(3¢p—2,2) =2,5¢0—0,2(5¢—8)

93 11 5,7 7 2,1 3
C) ~(=X—)—=(=+X)==X—=(=Xx—=
)4(2 3) 6(4 ) 2 3(2 4)

dy 48—4[-26z -5(1—22)]=-12z - 2{—3(22z +5)—[8-5(8z -]}

Zu a
114+13y =66+7y |-7y
= 114 +13y -7y =66+7y—7Yy
= 114+ 6y =66 |-114
= 114 +6y-114=66-114
o 6y =48 |+6
= 6y+6=-48+6
= y=-8
= L={-8}
Zu by
35-0,5(3p—2,2) = 2,5¢0—0,2(5¢0 —8)
< 35-05:3p+05-22=25¢0p-0,2-50+0,2-8
=N 35-15p+11=25p—250+16
o 46-150=16 |— 4,6
= 46-150—-4,6=16-4,6
=N —15¢ =-3 |+ (=15)
o -15¢ +(-15) =-3+(-15)
= p=2
= L={2}
Zu ¢
93 11, 5,7 7 2,1 3
I LI R Y L
9 3 911 57 5 7 21 2 3
C> _._X ___________ = — —_— —_——
4 2 4 3 64 6 2 3 2 3 4
2733 3B 5 7 1 1
= — X =—X—=X+— |-24
8 4 24 6 2 3 2
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27 33 35 5 7 1 1

= 24— Xx—-24-—-24. — —-24-—xX=24-—xX—-24-—x+24.-=
8 4 24 6 2 3 2
= 81x—-198 -35—20x =84x —8x +12
= 61x —233=66x +12 | —61x
& 61x —233—61x = 66X +12 — 61X
= —233=5x+12 |-12
= —233-12=5x+12-12
= — 245 =5X | +5
= —245+5=5x+5
= —49 =X
= L ={-49}
Zu dy

48 -4[-262 -5(1—22)]=-12z - 2{—3(222 +5) —[8-5(8z -]}
= 48 —4[-262 —5+10z] =12z — 2{-66z —15—-[8 - 40z + 5]}
= 48 —4[-16z —5] =—-12z7 — 2{-66z —15z2 —8+ 40z -5}
= 48+64z +20=-127z —2{-41z -13}
= 68+ 64z =-12z +82z + 26
= 68+64z =70z + 26 | —64z
& 68+ 64z -64z =70z +26—64z
= 68 =62+ 26 | —26
= 68 —-26=6z+26—26
= 42 =6z | +6
= 42+6=62+6
= 1=12
= L={7}
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